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ECONOMICS

( Honours Core )

Paper : ECO-HC-4036
( Introductory Econometrics )
Full Marks : 80

Time-: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
oW PR e
(@) Mention one importance of normal
distribution. o '
ST T4 BT ST Beed 1 |
(b) When is F-test used?
F-+Rre1 (a1 <R[ F91 W ?
(c) Give one property of t-test.
t-2Rr b1 CIME forn 1
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2)

(d Mention one causé of heteroscedasticity.
FReRoaT o 2 P Bem 70 |

() When does specification error arise?

- Row Rewe o @fn ter @ 7

() What is linear equation? *
@R AR,

(g) Write the full form of BLUE.
BLUES 9 R o |

(h) Define coefficient of determination.
e e e B
‘~(z) If the error term is not- distributed

,normally with 2 variance, what type of
problem may anse?

Ift o M1 YR ﬁwﬁa vnm— c"’ﬁw
T, (S ma’mm««w%ai’v

0 What is cntlcal reglon?
oo cwa 2

2. Answer the following questions : 2x5=10
S 2PPTRE T fra o

. (a) Mention two properties of estimators.

SR Y1 CaE SR W
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(3)

(b) What does an error term represent?
& o <GB B i 2

() Mention two sources of autocorrelanon
THOTRTE P S S

(d) When does heterosceda‘stici’ty arise?

iR cofou et =

(e) Distinguish between one-tailed test and
two-tailed test.

GF-<[RRAB- = @Wﬁ? R A
of1efq7 foran |

3. Answer any foitrv of the fbllowing questions :
5x4=20

TR P R e wiiRGR T o -

(a) What is normal distribution? Mention
the properties of niormal distribution. 1+4=5
THRe 3 R 2 SR TH9 CaREPTIR fore |

(b) Whaf is hypoﬂiesis .testing?, What are

the various steps of hypothesis testing?
1+4=5

o el R 7 oW AN RIS SRR
forar 1
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(4)

(c) 'Explain type-I and type-II error. : 5
g o @ Wi Ao oeRT @foT I
e ’

(d) Explain thé concept of tjegression.
Discuss the importance of regression in

economics. 2+3=5
SRR {RATCOT 10T 37 | mﬁz’rﬁ— © AR
GG TE DAl 41 |

fe) Distinguish between multicollinearity
and autocorrelation.
IO AE ORI Two A
SICATSAT 90 1 ,

() Explain the method of measuring the
goodness of fit in a multiple regression
model. '

R TERE Ry Tey @er Rfs |_R
ST ML FAA1 -

4. Answer the following qu_estions' : 10x4=40
S PR b
(a) Estimate the regressmn lines from the
following data: : 10
RAPRS 4 /1 Xq SRS ¥4 TRAT {1
g 90 :

X : 78 8 97 69 59 79 68 61
Y : 125 137 156 112 107 136 123 108
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(5)

- Or/ &g<r
Explain the consequences of auto-
correlation on OLS estimation. How can
autocorrelation be corrected? - 4+6=10 )

OLS YRS FACTITIR. FAFCIN M
T | G TR (TR e[| AR 2

(b) Whatis test of significance? Mention the
various steps associated with tests of

significance. , 3+7=10
ATl AR 2 T “RiwR e Wi
T PIR Tea 3101

Or/ o341 -
Explain the consequences of multi-
collinearity. ‘ 10
IR AP A=A 4T |

(c) State and prove Gauss-Markov theorem
for B; in linear regression model
Y; =B¢ +B;X; +u;, where B, and B, are

~ parameters and u; is stochastic term. 10

Yt=ﬁo+[31Xt+ut AT (YR RO
TR-TRTS OG0l IS HF 219 390 1 'S B,
I By 26T T AR uy GO W |
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(6)

Or / 9<{1
Distinguish between null hypothesis and
-alternative. hypothesis. When is chi-
square distribution used? A random
sample of 5 students from a class was
taken. The marks scored by them are 80,
40, 50, 90 and 80. Does these sample
observations confirm that the class
average is 70? [Tabulated value of
t=2.78 correspondmg to(n-1)d.f].
2+3+5=10

%wwﬁwm‘wm@ﬁm
chi-35f Rexa @1 Iz 391 =W ? 9B &R
5 & RIE G99 SINCSrd I A |
co$ae w91 3 80, 40, 50, 90 HF 80
W, ¥ MIARCE N RS 5 70 L[
IS FEA? [t=2-787 WeRgE I
(n-1) d.f 3 A SRA |

(d) Explain the uses of dummy variable for
measuring the change in parameters
over time. What is the use of dummy
variable in seasonal ‘analysis? Explain.

5+5=10
oI5eR T RIGT] (@Y ' RAMRAE 5o
QT IR I ], IO 90| yplefeT
Rorr crae dfdwe e R 993 740
2RI
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(7))

Or / 931
Explain how specification error may
arise if irrelevant variable isincluded in a
linear regression model. Explain the
consequences of specification error. 4+6=10
PRfIE v adl ReR R & e
T W AR FA? X GO ASRTIR I
B :

* %k k

24A—8000/704 - "3 (Sem-4/CBCS) ECO HC 3





